

次の式を展開しなさい。

$$\begin{aligned}
 (1) \quad & (4a+7b-3)(4a-3) \\
 &= (4a-3+7b)(4a-3) \quad (4a-3=X \text{ とおく}) \\
 &= (X+7b)X \\
 &= X^2+7bX \\
 &= (4a-3)^2+7b(4a-3) \\
 &= \underline{16a^2-24a+9+28ab-21b} \quad \#
 \end{aligned}$$

$$\begin{aligned}
 (2) \quad & (a+b-1)^2 \quad (a+b=X \text{ とおく}) \\
 &= (X-1)^2 \\
 &= X^2-2X+1 \\
 &= (a+b)^2-2(a+b)+1 \\
 &= \underline{a^2+2ab+b^2-2a-2b+1} \quad \#
 \end{aligned}$$

$$\begin{aligned}
 (3) \quad & (x-4y-2)(x+4y+2) \quad (4y+2=X \text{ とおく}) \\
 &= \{x-(4y+2)\} \{x+(4y+2)\} \\
 &= (x-X)(x+X) \\
 &= x^2-X^2 \\
 &= x^2-(4y+2)^2 \\
 &= x^2-(16y^2+16y+4) \\
 &= \underline{x^2-16y^2-16y-4} \quad \#
 \end{aligned}$$

$$\begin{aligned}
 (4) \quad & (x-7y+5)^2 \quad (x-7y=X \text{ とおく}) \\
 &= (X+5)^2 \\
 &= X^2+10X+25 \\
 &= (x-7y)^2+10(x-7y)+25 \\
 &= \underline{x^2-14xy+49y^2+10x-70y+25} \quad \#
 \end{aligned}$$

$$\begin{aligned}
 (5) \quad & (x-3y+2)(x+3y+2) \quad (x+2=X \text{ とおく}) \\
 &= (X-3y)(X+3y) \\
 &= (X-3y)(X+3y) \\
 &= X^2-9y^2 \\
 &= (x+2)^2-9y^2 \\
 &= \underline{x^2+4x+4-9y^2} \quad \#
 \end{aligned}$$

$$\begin{aligned}
 (6) \quad & (x+2y-3)(x-2y+3) \quad (2y-3=X \text{ とおく}) \\
 &= \{x+(2y-3)\} \{x-(2y-3)\} \\
 &= (x+X)(x-X) \\
 &= x^2-X^2 \\
 &= x^2-(2y-3)^2 \\
 &= x^2-(4y^2-12y+9) \\
 &= \underline{x^2-4y^2+12y-9} \quad \#
 \end{aligned}$$